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Note: (i) Figures to the right indicate maximum marks of the guestion. Total Marks- 70
(ii) Use Graph paper for Linear Programming and Lorenz Curve, .
A (h) orugll oy euldeat 35 Waddt vy e ealld 8. 24982 70

(i) Yt 2ufloyd ud @R dgell AW ElRAL W WAl Gudlol sl

Q-1 (A) Define the function. Explain its types with appropriate illustrations. S 09
(844 oty U, (GH4AL UsRL 407 Geteel uldd Aol :

(B) For a commodity, when a production was 10 units then producﬁon cost for it was Rs. 35000 and whenthe ¢4
production was 35 units then production cost it was Rs. 65000, Find out the cost function of production.
Bls dqrg WIS AR Gruted 10 354 o (AR del Hie widd 3, 35000 o 2 ordR Grulee 35 A ¢ A dell
W2 v 3. 65000 6, Geuted W2 W @8y Q4L

(C) Explain the meaning of domain and range of the function with appropriate illustrations. If demand and 05
supply functions for a commodity are ‘D = 15— 4P* and ‘S = 6P ~ 1" respectively, then calculate -
(@34 e ud [@diadl 2 dbor Gelri wd uneidl, ofl By dedAl WL i Wl [GHAL wqsH
D=175- 4P ud §=6P - I* ¢l dl Al 53 -
(i) Maximum and minimum price of a commodity, dqil HigdH el et B,
(i7) Demand and supply of a commodity when price is Rs. 5, fiHd 3. 5 ¢l 1% gl wiol 2t yagél,

OR (MH4)
Q-1 (i) Distinguish between the function and equation. Exp!ain the elimination method and mathematical g9

equation method for solving the equation with appropriate illustrations,
[@EY 2wl @Rl dle vz o wllsundl G il 1AL diy wald vid ol Yl dd oy
Gelubl Ald AHanell,

(ii) Subject to the following constraints, find out the optimum values of the given objective function using 09
linear programming.
{14t RO 2L, YR 2oyl GudioL 58 21T deeeil [QHaAL Sedy yedl Al

Objective function (qeiell [GHa);, 7= SX +3Y

© Constrains (W[AeiHll); 3X +Y =3
X +4Y 2 4
X+ Y<6
X2
Y <4
Nan-negative conditions (¥1<8l Wy, X220 and Y 20

Q-2 (A) Write a detailed note on Input - Output Model of Leontief, : 09
(@ilF2sett et 3t — ol Hide ur [ iy quil.

(®) With the help of inverse matrix; solve the following simultaneous equations. 08

Wy SifRus{l seeell; {241 gorud wlsaell Gsall.
90X + 100Y + 20Z = 800
130X + 50Y + 402 = 900
60X + 100Y + 30Z = 850

_ OR (vigay)

™ ol

Q-2 () Discuss the types of matrix with examples, AR5 N5l Grlgil A 2l &L, 08

(ii) Using the following table of Input-Output, find out total production when final demand targets are 18 and 06
44 respectively for both the industries.
A3 vidaia-oliiadr psdl Guainl 530 el »iAn diolr asisl oed Gelloll wid w4l 18 2 44 1
AR 54 Geled Ykl
O (PTe)y




" ?nput Industry Final
(30 Gellal Demand
Output Gazedl uioy
(elfagle) A B
2 o :
gz A 16 20 4
8 5 :
20 B g | 40 32
(iif) State the properties of determinants, [FeatiLsell QU syiuel, ' L ' 03
Q-3 (A) Give the meamng of series. Explain the types of series with lllustratlon 06

R0 1] 2and) Al usiRiAl Gelerel dldd Ansydl 2,

(B) What is meant by the set ? Narrate the methods for presentmg set with illustration. Describe the various g
processes o set with appropriate illustration.
o ed 47 o sl Adie) Gy Al e 531, BRN A Bawil dion Gega 20 wiordl,

(C) There are 10 man and 20 female workers in a factory, half of men and women workers are skilled. Qut of 04

these workers, one is selected randomly, what is the probability that the selected worker is a man or
skilled man?

s $1RoiAL 10 Yo w20 2l sHelRl 8, ywill g 250 211 Y 50 & S0 D, L SR iw*a ad
s sIMEle] wsﬁﬂ muu 249 ol R At SHER YR 1 vt 5219 Yo ¢l d-{l u@uq«u gaw?
OR (2i44l)
| Q-3 (i) Explain the statistical and mathematical definitions of probability with their limitations, T
wiotd ALl wissnrally 21 oulilds el duell el wldd Auxondl.

(i) Describe addition and multiplication theorems of probability. Discuss the conditional probability in detail. g9
afetieltdl wratonl 2 ayaisiedl Wil wnegd] 2l ardl deiadid Bdd 44 2l 53,

(i) [fset A={1,2},set B={2,3} and set C={ 3} then find owt M (A xB)N(BxC), (i {(AxB)UEBxC) 4.
and (i) AxBxC _
sfL ARl A = {1, 2}, 8L B = {2, 3} U OLgL C={3}sudl () (AxB)NBxC), (i) (AxB)UBxC)
wd (i) A xBx CHL,

Q-4 (A) What is Lorenz curve? Describe the method of plotting Lorenz curve with iffustration and narrate its usage 09

in economic anaiysas
et o 3128 § 7 dReob dpell (3w W3 R Geloi, WA unatdl A0 s Bedgmi a4 Gudloily

(30 48l 54
(B) Find out Median, third Quartile, fourth Decile and Ninetieth Percentile from the following data. 08
1] suleedl uzefl wenre, s{lenl Aqds, 2l enials, wied Agul ddins WL ‘ _
Under 25 75 and Over - [Total
Age G2 25 4 1P = 2930 3435 — 445 — SASS ~ 6465 ~ T4 v meh ol sty
Frequency [ 222 | 4.05 [ 508 |1045] 947 | 6.63 | 4.16 166 W37
Cumulative Frequency
x (4 ‘ v k) Ll . . 0 v . 2
izl i 222 1627 |11.35)21.80|31.27 1379 4206 43.7
OR (la)
Q-4 () What is dispersion? What are the various methods of measuring it ? ~ Discuss in detail. I

UL Bl g 2 A Hiual W] BRH el 58 B 2 - Firga 1d %l 821,

(i) Find the missing information from the following, 2 Hitll vadl *ulsdl Al 08

Group -1 | Group~2 | Group-3. | Combined
(a-1) | (gu-2) | (-2)| dyd

Observations (Yadis<l) 50 60 ? 200

Standard Deviation (Wbl [d24-) 6 ? 8 7.746

Mean (UaR) ? 120 115 116
—_— —



